EARAROBEEIERT — 2 N— IBISH —F

201657A 180 (B) 9EEHEIH

mﬁ%ﬁ A Y5 (xwlw | lmEmml - |5 @) w8
[x&<£] 1 %&:750,000 @  23#&:150,000 @ 3 #&:75,000 @ . 43#%&:45000 M ~ 53 :30,000 M
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
31 . 33— — Y
1 0| Ty TTLH— H 6 56_::(%%% 1.(4_4).6 4-3-3-3 | 39.8 3 ?(1))2 E;é% (BHE)
LY IINyoF— Ba-9Y314F— EUFHT7— L
s S [UHf=sEEc] 144, === . - TEE (BEE)
N - B2 "5 o [ I Y [ mme
LHIRT 75X B:7RAT RIS TR
- ST SHEKX : -9-8- — BEORK (BHE)
3 4| VTIAXFLY #o8 | AR 1'{“8'5 $BT %92 10 5_145; AR
X ThANAN B:IYEHTISO =iz
S S8, = 31|28 : ~5-5- = EriB—3 (8HE)
N REEEe T H 7 56.0A (11.415/.28) 5-5-5-5 | 40.5 6 (4_5;0) =
L:7v3I7—-L B:HYRTFILI ENCPERIZ ¢
o S 4 | AHEHEE 1:45.8 1-1-1-2 | 41.2] — 2 492 | BHBEE (BEHE)
5/8|9|/NF//XL—=F # 50 (F) :2) Eﬁizzﬁrs
L:d—=IVRAfA— B:HhI/ YLy HRRSH KEXT—TIL
N spe EHEES 145, —6-7- . - ILAFIER (2 E)
6lzlg|d—rEL—= 4 6 i 1(745t§) 6-6-7-9 | 39.9 5 (4_815) il
Lg% ML BiOoqviyz—J B 7 7 — L
. HOEERE— : 44— - Sty (BHE)
71810 L2 YRy =ty 4 8 e (11.416/.21> 3-4-4-4 | 411 7 ?gga vl
L:TLyvXHhT71 BAT/ XN — A R
. o= HEH : -10-9~ = Erik—5 (HE)
8 3 E—ZX 7Y INTF 1 4 5 i 1(;1?‘:) 10-10-9-8 | 39.4 4 5(8)6 e
R:7vis—L B:EH/F> Eisiilie ]
9 _EaLtE 146. ~7-6~ . — BriE—% (Z84E)
ol5l5 | FINTT A= "0 % e | e e S |#iem
R:T7RIAYL—> B8/ %= Hr b =45
o0 INLETT :50. -8-10- . — BEOE (BHE)
10011 | T—>>7INTR i v || AT (1&5‘?% 8-8-10-10 | 44.1 9 (4_8; ﬁé));lilﬁ’ﬂ
SANRTINGR BT w127 %3 & AEMBS
® 1 — @B
1T=7r= 9,6,10,2,7,8,5,1,4,3
23=7r= 9,6,2,10,7,8,5,1,4,3
3=I=F— 9,6,2,10,7,5,8,4,3,1
40—+ — 6,9,2,10,7,5,4,3,8,1
[ /N
B 2 370H 714K 2-6 220M B 2-6 390 JEE 2-4-6 13,290H
B B 2 1509 2-4 3,910 B & 2-6 350M JEE 2-6-4 31,980
6 130H4 4-6 3,910 B H 2-6 920M
4 1,300

ABICOVWTRDTEEERROODE. TR LIV,




